
Assembly instructions
Notice de montage
Montage instructies
Montageanleitung

Istruzioni di montaggio
Instrucciones de montaje
Инструкция по сборке

Instrukcje montażu



Backrest

Armrests

Seat Cushion

Gas Cylinder

Base

Casters

M5  Hex Spanner

M6  Hex Spanner





M6*50 Screw

M6*65 Screw

M5  Hex Spanner



M6*16 Screw

M5  Hex Spanner



M8*30 Screw & 6*16 Flat Washer

M6  Hex Spanner
















	AK3YJYT-TYZF3-A.180 v2
	AK3YJYT-TYZF3-A.180 v2
	AK3YJYT-TYZF3-A.180 v2
	AK3YJYT-TYZF3-A.180 v2

